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Multiple Choice: 
 

1. What is value of the expression 𝟑(−𝟒 + 𝟑)? 
A. 𝟒(𝟑) + 𝟒(𝟑) 
B. 𝟑(−𝟒) + 𝟑(𝟑) 
C. 𝟒(𝟑) − 𝟒(𝟑) 
D. 𝟑(𝟒) + 𝟑(𝟑) 

 
2. The expression 𝟐 +  𝟑(𝟐𝒙 −  𝟓) can be simplified to: 

A. 𝟔𝒙 − 𝟏𝟑 
B. 𝟔𝒙 + 𝟏𝟑 
C. 𝟔𝒙 − 𝟏𝟕 
D. 𝟔𝒙 + 𝟏𝟕 

 
3. The expression 𝟔(𝒙 + 𝟑) − 𝟐(𝟒 − 𝒙) can be simplified to: 

E. 𝟓𝒙 + 𝟓 
F. 𝟖𝒙 + 𝟏𝟎 
G. 𝟓𝒙 − 𝟓 
H. 𝟖𝒙 + 𝟏 

 
4. The expression 𝟓 + 𝟑(𝟐𝒙 − 𝟔) can be simplified to: 

I. 𝟔𝒙 + 𝟐𝟑 
J. 𝟔𝒙 − 𝟐𝟑 
K. 𝟔𝒙 − 𝟏𝟑 
L. 𝟔𝒙 + 𝟏𝟑 

 
5. What is simplified expression of 𝟒𝒙 − 𝟐[𝟕 − 𝟓(𝟐𝒙 − 𝟑)]? 

M.  𝟐𝟒𝒙 + 𝟏𝟔 
N. −𝟏𝟔𝒙 + 𝟏𝟔 
O. −𝟏𝟔𝒙 − 𝟒𝟒 
P. 𝟐𝟒𝒙 − 𝟒𝟒 
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Using the properties of real numbers, simplify the following expressions: 
 

6. 𝟐 +  𝟑(𝟐𝒙 −  𝟓) 
 

7. 𝟓(𝟒𝒓 −  𝟕𝒕) −  𝟐(𝟏𝟎𝒓 +  𝟑𝒕) 
 

8. 𝟒 +  𝟐(𝟐𝒂 −  𝟑) 
 

9. 𝟓𝒂 −  𝟐[𝟑 −  𝟐(𝟒𝒂 +  𝟑)] 
 

10. 𝟓 −  𝟑(𝟒𝒙 −  𝟐𝒚) 
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Multiple Choice: 
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Using the properties of real numbers, simplify the following expressions: 
 

6. 𝟐 +  𝟑(𝟐𝒙 −  𝟓) 
= 𝟐 + 𝟔𝒙 − 𝟏𝟓 
= 𝟔𝒙 − 𝟏𝟑 

 

7. 𝟓(𝟒𝒓 −  𝟕𝒕) −  𝟐(𝟏𝟎𝒓 +  𝟑𝒕) 
= 𝟐𝟎𝒓 − 𝟑𝟓𝒕 −  𝟐𝟎𝒓 − 𝟔𝒕 
= −𝟒𝟏𝒕  

 

8. 𝟒 +  𝟐(𝟐𝒂 −  𝟑) 
= 𝟒 +  𝟒𝒂 − 𝟔 
= 𝟒𝒂 − 𝟐 

9. 𝟓𝒂 −  𝟐[𝟑 −  𝟐(𝟒𝒂 +  𝟑)] 
= 𝟓𝒂 − 𝟐[𝟑 −  𝟖𝒂 − 𝟔] 
= 𝟓𝒂 − 𝟐[− 𝟖𝒂 − 𝟑] 

= 𝟓𝒂 + 𝟏𝟔𝒂 + 𝟔 
= 𝟐𝟏𝒂 + 𝟔 

10. 𝟓 −  𝟑(𝟒𝒙 −  𝟐𝒚) 
= 𝟓 −  𝟏𝟐𝒙 + 𝟔𝒚 

 

 

 

 

 

 

  


